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Instructions —

1.
il.
iii.

iv.

Vi.
Vii.

All question are compulsory.

Please the instructions carefully before writing the answer.

In section A Q. No. 1 to 5 are objective type which contain fill up the Blank, True/False,
match the column, one sentence answer and choose the correct answers. Each question is
allotted 5 marks. 1x1 = 5x5 =25 Marks.

Internal options are given in Q. No. 6 to 20 in section B.

Q. No. 6 to 10 carry 4 marks each and answer should be given in about 75 words.

Q. No. 11 to 15 carry 5 marks each and answer should be given in about 120 words.

Q. No. 16 to 20 carry 6 marks each and answer should be given in about 150 words.



U 1.

FrferRad 9 921 fadhed g faIlay |

)

YT GR AT AT ATl Dr fhar SIrem 2 |

(i) I9or @ T H (i) veoft & @ #

(iii) SR @ H (iv) 9T A1t @ H
3MMERVT R T & |

() BH BT BN (ii) ATSIERI BT M

(iii) WH @I 3y (iv) SIRIad d & Iy =l
ARIERNT &7 JeA 2 |

(i) STSERl g1 JAfTRET GOl =T

(ii) ATSIERI & U H ulRacd=

(iii) ATSIGRI @1 Goll UR TSl <7

(iv) =T & Heg | =1A @rar dret T

AERR & Y99 R YAAid- 9 gU o™ &l JdRd fhar S
g |

() e urd |fd v AERRl @ Yo @rd |

(i) ¥ AR © Yol @ H

(iii) YR AR & Yol @A H

(iv) & B @
FOT UF ORI B T |
() DU & @ (i) DU B AT
(iii) HUN B FER (iv) P ® UTED

Select the correct answer.

(a)

(b)

Goods sent on consignment is debited to -
(1) Consignment Account (i1) Consignee Accounts
(iii) Trading Account (iv) Goods sent on consignment

Interest on drawing is -



YR 2.

(©

(d)

©)

(1) Loss of firm (i1) Income by partners

(ii1) Income of firm (iv) None of above

Reconstitution of partnership is _

(i) Additional capital introduced by partners

(i1) Change in profit sharing Ratio of partners

(iii) Allow interest on capital

(iv) To Raise goodwill account by its value

profit on revalution at the time of admission of a partners is transferred to -
(1) Capital a/c of all partners including admitted partners

(i1) Capital a/c of new partners

(1i1) capital a/c of old partners (1v) profit & loss a/c
Debenture holders are -

(i) Owner of the company (i1)) Member of the company
(iii) Creditor of the company (iv) Customers of the company

WH A D o WH 9 gAY el Slfedl aersd—

L3k IR - ™ q

(31) ™ BT T Dr fhadr SIrar — ™ g1 e @
(@) B | JATHTY AT — ds

(@) faure arg o4 — YN B
() 99 I WR IaH — g o™
(3) =T BT oAb —  fgfa

— NHTHIY oY

— t‘l\T,ﬁ@ﬂﬂT

Make the correct pair for column 'A' choosing from column 'B'.

Column A - Column B
(a) Profit and loss a/c is debited - P/L appropriation a/c
(b) To Take leave from the firm - Bond
(c) Divisible profit - consignment loss



YR 3.

YR 4.

Raa e &1 gfif ST

() uRad=eier U ugfy ¥ don @ o 9 wREd ...
&l ¢ |

(i) YN TR WS AT AT U {ed UR UNOT &I Ho ENID
ST 2 |

(i) ®H & fIged & UTaTd W BT o PR FHd T |

(v) 79 Zeor u=i &1 ofen # gRafid fHar ST I6ar € % .
U3 HE T |

(v)  gTHeAIRT @IdT............. BT G ¢ |

Fill in the blanks.

1) In fluctuating capital method the closing balances of capital accounts are
............. every year.

(i1) Goods sent on consignment is generally shown at ...........c.cceeuveeneee. in the
consignment a/c

(i11))  After dissolution of the firm, partner can transact their own .............

(iv)  The debentures which can be changed into share are called ................
debentures.

W) Revaluation Account is @ .................. account.

(d) redeemed at perpar - Average profit

(e) Valuation of goodwill Retirement

- General Profit

- Capital Account

fr=forRad &1 97 U sy # SN SIfo —

(i)
(ii)
(iii)

Uyh, Yol BT HHIE dhal § <dl © |
ST T gL Hufed 2 |

ATAQIY P AT AFUTA=YRTAT IJUTd—ITT AUId Bldl =
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YR 6.

(iv)
v)

Gol IR ¥ HUT W@ & 0T UF hd B Gl © |
B4 & fdged 3R 9= & fdged § ®is 3R 8] 2 |

Answer the following in true or false.

i.

11.

1il.

iv.

V.

Consignor pays commission to consignee is cash.

Good will is an intangible Assets.

New Ralio — old Ralio = Sacrificing Ratio.

The company can purchase own debentures in open markets.

There is no difference between the dissolution of firm and dissolution of

partnership.

7 ¥ U BT Uh IR H Ia¥ Iy |

1.

2.

3.

4.

T AT @) B fdd gRT 989 @ Wil 7|

T WIEIER $I T IBH B A fbd fHar S 2 |

FIT ARIER BT 3T AT & EX&T & 9% 8l AHT ¢ |
I kool &1 B W A fhdar AT aMl § EfRd s
arfyard 7 |

5. Il W H BH P ARl 6 o IR qelg Il 7 |

Answer each of the following in one sentence.

A S

By whom the loss of consigned goods is born.

In whom the amount payable to deceased partner is paid.

Can a partnership dissolved without intervention.

What minimum part of the issued debentures is reserved out of profit.

At which value the assets of a dissolved firm are transferred to realization

account.

AR Helkg & 391G H ANL 819 dlcl IR ¥l BT AHEIgd?

Explain the rules applicable in the absence of partnership agreement. (Any four)
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31T
Or

R, &M iR FfdT e %4 H |AEIER & | 1 Sax! 2008 BT S
GGl AT 10000 B, 8000 ¥ 3R 6000 ¥ © AR o™ fqaRer &1 arura
3111 21 Yol W 5% &1 &% ¥ ol AT Al 8 a7 URA &l 800
3R &M &1 600 T Ufay da+ ferar g | a9 § ®H I 6200 © Bl
S BT | U ISR o 99 H Aol 9N & o) o H ¥ 500 ©
MeTel | SUYad FdeRl & ol @Y B i@l 9915y 9 |ieian) &
goil oRd TRIR SISt |

Paras, Vikas and Nitin one partners in a firm on 1 Jan. 2008 their capital was Rs.

10,000, Rs. 8,000 and Rs. 6,000 respectively. Their ratio of profit distribution is
3:1:1 interest @ 5% is given on their capital and paras gets Rs. 800 and Vikas Rs.
600 per annum as salary during the year the firm earned profit of Rs. 6200 in the
year each partner withdrew for personal use Rs. 500 from profit from the above

statement prepare P/L, A/c and partner capital A/c.

3T AR 3R 37ed IR # TR W BINTY | (B3 aR)
Explain the difference between over subscription and under subscription.

(Any four)

34T
Or

gref foffics 9 W9 W 50  dlel 20,000 3 & fo1Q 3rde AR
RIRMT $9 UbR 9 ol 3fde W 20 ¥ 3fdcd UR 20 B AY Il
UX 10 %. hacl 18000 32T & ATdad UT gY AT ATda WIHR HR
ford 1 IRRAT Tt 81 T vy S yfaftedr Sifori?




YR+ 8.

YR 9.

YR 10.

Parth limited invited application for 20,000 shares of Rs. 50 each at the amount
being payable as under.

on application Rs. 20/- on allotment 20/- and balance call on Rs. 10/-

The application were received only for 18000 share and all of these were received

give the necessary journal entries.

3T TG FoTg &Rl § RT3k 2| (P IR foIRaw)
What is the difference between a shareholder and a debenture holder? (any four)

34T
Or

QT faAce 9 100 < dTel 4000 6% F0T9F FRIHAT fhy 3fdeT U=
TR 10 T 3AMdcd TR 30 T AT I W 60 T Ufd Ro9H HI &R 9
RIRT HUaR TR AT IR g wHg urd 8 W | See gfgftedr
PIFTY |

Soniya Itd. issued 4000, 6% debentures of Rs. 100 each payable Rs. 10 on
application Rs. 30 on allotment and Rs. 60/- per debenture on call assuring that all

the money were duly received draw up necessary journal entries in the books of

company.

31T fageryor & ®I$ IR Igev foalay | (@15 aR)

Explain the objectives of ration analysis (any four)

34T
Or

ITe] AT Yd el IuTd H iR foRay (@i Aw)

Differenciate between current ratio and liquid ration. (any four)

HIY YdTe f4aroT & IR He fIRau | (@7 IR)



Explain the importance of funds flow statement? (any four)

31erdT
Or
fforRad TH®eT | FaTels BIY BT TOET HIFY |
faramor 31 |19 2008 31 |4 2009
3. 3,
1. o™ B o= @l 9000 12000
2. GMg H9Y 6000 7500
3. I 3000 1500
4. YRM®H g 1800 1200
5. B9 Bq UT9uT 3000 3600
6. TIAT ATHIST 1000 2000

From the following data calculate funds from operations —

Particular 31 March 2008 31 March 2009
Rs. Rs.
(1) P/1 appropriation a/c 9000 12000
(2) General reserve 6000 7500
(3) Good will 3000 1500
(4) preliminary expenses 1800 1200
(5) provision for depreciation 3000 3600
(6) proposed dividend 1000 2000

g3 11, MY B U9 ST I § @I iR 87 (IS i)

What is the difference between normal loss and abnormal loss? (any five)
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34T
Or

AR T 7 NI Bl 5000 . BT AT Y¥UT TR ol 3R I TR
4000 5. &1 AU A\ & forv W= sARAT N 9 475 B, ¥ AT
3R 125 . T &g & feA |

AR o 250 %, AN IR ATeT & Q¥ I 3T dl JYR 4200
T. W 997 3R WY BT ST 2000 5. H THa I FaRIATA B Ahdl
I W 25% HHIH Hadr | Yo @l 9918 |

Banarsidas sends out a consignment to indorilal of the value of Rs. 5000 and

drawing a bill on the later for Rs. 4000 as on advance against the same.
Banarsidas also pay Rs.475 for freight and Rs. 125 other expenses.

Indorilal clears the goods by paying Rs. 250 for octroi and cartage he sales on
credit half the goods for Rs. 4200 and half of the remaining is sold of cash at Rs.
2000.

Indorilal gets 2.5 commission on gross proceeds prepare consignment A/c.

T BT Ui & JTAR IHD THR THESY |

According to nature of good will explain its types?

SEIH

Or
U ATIRE HH B Goll 80,000 T. & HH BT AFd T 9000 3. % |

U R WR 7.5% 31T AU & 3MA™ & Gollhd Hod & AR W
T BT oI Sl DIToTa?



Y- 13.

Capital of business of a firm is Rs. 80,000 Average profit of the firm is Rs. 9000
normal return in such business is expected at 7.5%. Find the value of goodwill on

the basis of capitalized value of super profit.

A WRRR & < AR & Yae @ Rt aqsmsy |

Explain the different method of payment of amount due to retired partner?

arerar
Or

ST 3R defad Udh BH N axeX & AEER © 31 fadwR 2007 &l
SHPT foreer f & —

MR R wafed RIE]
dh— orfafdey 5,000 NG 10,000

<gfqud 7,000 TR 20,000

ISRELN 8,000 TIh 10,000
goil— 3rory 20,000 SELED 10,000

goled 10,000

750,000 50,000

I TAT BT 1/4 9T & oI 91 AEIGR 917 98 8000 . Yofl
@ TG 6000 O. WM & Adha ol & BeieR $HI Jed 16000 %. Td

TCTh BT oI 8000 2. IAThT AT AR WR 10% DHeldl o dad fbar
T YAHedIdh Gl Ud goll @il 99733 |

Ajay and Baldav are equal partners in a firm their balance sheet as on 31 Dec.

2007 is as follows -

Liabilities Amount Assets Amount
Bank overdraft 5,000 Cash 10,000

10



YR 14.

YR 15.

B/L 7,000 Debtors 20,000

Creditor 8,000 Stock 10,000

Capital — Ajay 20,000 Furniture 10,000
Baldav 10,000

50,000 50,000

They admitted Chetan as a partner for %4 share he brought Rs. 8000 as capital and
Rs. 6000 as good will in cash furniture was Valued Rs. 16000 and stock at Rs.
8000 provision for discount on creditor was created @ 10%. Prepare revaluation

a/c and partners capital a/c.

Jral¥re IreT fhd ded & Ufasd] afgd aasmsy |

What is calls in arrears. Explain with entry?
AT

Or
Uh HUHl DI ARRd Yol 3,00,000 & Sl 100 B. dlel 1000, 12%

gaifiey e U9 10 %, dTel 20,000 FHAT e H fawifora & 349 9
800, 12% UAEr®RI 32 Ud 16000 FHAT 3T I 39 T R A
fhar T o sHdH! FYol RIf3 JTded U & A1 ST =Ry |l 32l
B SAT §RT T AT 3R §91 WR qifod AR HUT BT g1 8 T
Goil U] eIty |

The authorized capital of a company is Rs. 3,00,000 which is divided in to 1000,
12% preference shares of Rs. 100 each and 20,000 equity shares of Rs. 10 each
out of these shares 800 12% preference, share and 16000 equity shares are issued
on the condition that full Amount of these shares will be paid on application all

these share were taken up and paid by public pass the necessary journal entries in

the books of company.
0 & faes # = Il 9t & fag #a # ford |

11



YR 16.

& UG 9, 9, @Ifd, ¥ad, vod AsfeT Beer ud e, Shfaa
WIh, g8 [ARM<YaR, ued uR |ul |

In what order will the following fixed assets be written in company’s balance
sheet building, siding, furniture and fitting, live stock, vehicle, patents right,
leasehold property.
AT
Or
HUA & IR IS BT Uy IRgd B |

Present the verticle from of balance sheet of a company?

AR fqged iR AEeR! BH & fqued # fdk aHssd | (Pl ©)
State the difference between the dissolution of partnership and partnership (any
SiX)
AT
Or
3 3R g 71 31 f&W. 2007 BT U FIAI & FHAYA DI Forg foran

I il B b1 fRreer e o —

HID] af3r afed afdr
TER 12000 NG 2000
A BT 16000 TR 10000
PSIREIS] The 40000
A — 40000 60000 e 20000
B — 20000 o 8000
T 8000
88000 88000

12
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AEER Yol & Ui § o™ B fIira &-d g | fafder qaee 4
74000 . IS Y, WY ¥ 37,000 B, Wi Ud fhaad ¥ @
QIDR Hed BT 80% IR TAMT W 12000 . 99l BY| FGRI Bl
5% deldl TR YA fhar a1 iR AU @ ANTd 1200 6. g8 |

YA WA U ATSIGRI T Yol STl §+187 |
A and B decided to dissolve their business on 31 Dec. 2007 on that date their

balance sheet stood as follows —

Liab Amt Assets Amt
Criditor 12000 Cash 200
A’s loan 16000 Debtors 10000
Capital a/c Stock 40000
A- 40000 60,000 Plant 20000
B- 20000 Fixtures 8000
Goodwill 8000
88000 88000

Partner sharing profits & losses in the ratio of capital sundary debtor realised Rs
7400, stock Rs. 37000, plant & fixture realized 80% of their book value and
goodwill realized Rs 12000 creditors paid off at 5% discount and cost of
dissolution amainted to Rs. 1200.

Prepare the realization a/c and partner capital a/c
I b BT B UfehAT BT faaR I Ta=sy |

Explain the share forfeited process?

3T
Or

A A A ol & B 10 drel 1000 372 & oIy e v fhd
MIET WR 2 3. 3fdeH WR 3 . UIH Il WR 2 AT fgadid Iraer R

3 %. AU JATdGH TAT JATdCH bl IR R FbT <1 fobeg T&H IraAT

Td i IrEAT IR S gdT FhT I FATAdl 7 IAD HR 3M;

13
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YR 19.

S dR oy iR I=° Adha 9000 . YAMFHAT B AT Ul @I
QXTD] H T BRI, YAHA Td SRIARVT Bl STt Gifte BTy |
Ramesh applied for 1000 shares of Rs. 10 each in X limited payable Rs. 2 per

share on application and allotment Rs 3 per share and Rs 2 per share on first call
and 3 per share on second call he paid application & allotment duly but failed to
pay first call and final call manes the directors for-feited all his shares and re
issued the same for Rs. 9000 for cash.

Pass for-feited, Reissued and transfer entries in book of company.

RO UA B AW~ GHRI BT Ui DY (DS ©)
Explain the various types of debentures? (any six)
AT
Or
wfaar ST Hu fol. 9 5. 100 dTel 4000 5% O UF %. 10 Ufd

Foga W R EueR (AT f6d smdes R %, 20 ofded W
50 (NATH |f2d) T Iran R . 40 Ul SROTUH BU & &bl A
STl o BT |

Kavita trading com. Ltd. issued 4000 5% debentures of Rs. 100 each at premium

of Rs. 10 per debenture payable Rs. 20 on application Rs. 50 (Including premium)
on allotment and Rs. 40 per debenture on call pass necessary journal entries in the

book of the company.

&g faqarol & fageyor & Hgc ol AHssY | (Bl B fd=5)

Explain the importance of significance of financial analysis (any six)
SEIH

Or
fFr=feTRad faavoll & 31 1< 2008 Td 31 A 2009 BT FHAG dY &

JAATHE 3 fIaR0T FA1RY |

14
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fa=oT Y 2008
.

g fasha 15000

I T AT DI ARTT 8000

eI IR B J 1000

fashg ©d faaror =g 800

N G A 200
N GAToTdh 3 400
IMIThY 1250

q9 2009
3.
20,000
9000
1200
1000
200

300

1500

Prepare comparative income statement from the following particulars for the yea

ended 31 march 2008 and 31 march 2009 —

Perticular Year 2008
Rs.

Net sales 15000

Cost of goods sold 8000

Administration and office exp.1000
Selling and distribution exp. 800

Non operating exp. 200
Non operating income 400
Income tax 1250

Year 2009
Rs.

20000
9000

1200

1000

300

300

1500

g 19 fIaRer T Ade duic # 3fdR e S | (@18 ©: faw)

Explain the difference between cash flow statement and cash budget (any six)

31T
Or

=1 el o e Al | Harew fhamel 9 JAee yde &l

AOET DI |

15



™R

& ™ 7,500
- 5,000
e TR &9 1,800
e & A uR oY 7,00
EASRCILS] 2,500
fafamT & fasg iR o™ 2,500
=Te), a1 | gfeg 20,000
1e] |ufed H gl 10,000

Calculate Net Cash flow from operating Activities by Indirect method from

following information's:

Rs.
Net Profit 7,500
Salaries 5,000
Dep. on Plant 1,800
Loss on Sale of Plant 7,00
Interest Received 2,500
Profit on Sale of Investment 2,500
Increase in Current Liabilities 20,000
Increase in Current Assets 10,000

16
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@) U9 @ H
(i) ¥ DI M

3N 2.

3N 3.

(i) WTSIERI @& ITUTT H URT
(iv) YN WEIERI & Yol @ o
(v) HO D odFER

TS el fol@s TR 1 36 ol 5 3P 9T BT |

REIISISECEIERIE
@)  uUyor g+
(@ frgfa
@) ¥ B e
(%) dIs
(8) ofwd am
TS HE fores R 1 8% qA 5 &fd I g |
Rad = &1 4ol I —
()  dgorar
(i) @TTd e
(i) UR

17



3N 4.

SISVASES)

SISVASC)

(v) uRaaaeia o 1=
(v) ¥ AT BT Gl

TS el fol@s TR 1 36 ol 5 3P 9T BT |

f=fIRad &1 I /3 ¥ Sk Iy —

() g™
(i) 9
(i) T
iv) A
<IN

(iv)
v)

—

TS el fol@s TR 1 36 ol 5 3P 9T BT |

7 & I e & P a9 H IR A —

(1) T 71 & B U9 gRT 989 BT oIl ® |

(2) I AERER P T IGA B YA IAD STRITBRT Bl
ST 2 |

3) Bl AERR & d < & gWed & 9 & Fdhdl ¢ |

(4) T o=l &1 BH W HH 50% WRT A H ARG SRl
arfard 7 |

(5) el WK H BH @ FHfadl P Hed W Qg Il 7 |

TS HE fores R 1 8% qA 5 i I g |

TSGR ol & 3G § o] 84 dTel | —
1. GOl IR &N QF 81 — AUR § T8 TS Yoll R DIg ATl 81
feam ST 2 |

18



2. JMERV R Gl T8l — AEERI §RT BH ¥ AMERT AR W HH
PIs |l ST T2} ol © |
3. WIRIERI & ®IT W 6% &N — QT By AWEER AUA Yol &
AT TR H ARG goll S0 & af U 0 R Iffae &
AR 6% dAT¥® TSl ST SRAT |
4. M BN &1 F9E 9o — 9Ee BH § 8N 9l oW 6l
oo it IReRl # 9HH w9 9 BN |
[T @ faRad @t 95 81 98 8 1@ forg o dfda aole wR 1
3id I B | BF FRT BIE A 4 Agall & 9 R 4 3 A )
3rerar
4 B PR @

Dr.

faaRor | ~f3r fqaror | ¥fRr

Uoll ORIl | oAy 6200
URH — 500 3T /<
fddra — 400
fafe — 300 1200
CREIREIRENS]
IR — 800
fder — 600 1400

g o™

URY — 2160
fddbrT — 720 3600

19



SN 7.

fafem — 720

6200 6200
SRIFAEIR I B W Fel 4 AH U 8 |
gRaceliel Yol ugi —
AEERI & Yol @
fqRor | IR | 9@ | (Afae | faavo oRE | e | i
3T (500 | 500 |500 |RY AT/ET|10000 | 8000 | 6000
LCIKI] Uoil OR &1 | 500 400 | 300
QYT | 12960 | 9220 | 6520 | W I T | 800 600 | —
B A ™ BT |2160 | 720 | 720
o1, @grar
13460 | 9700 | 7020 13460 | 9700 | 7020
SRR qUF B U Gl 4 3 T s |
ARG T 3rcd IAfIR™ H TR
Ed RN dT | Afa 3rfIeT 3req 3ff¥aT
3R
1 aref frifa ofel @ ot | fWifi@ &fe @
H 3AfS® 3MTde 3 &I | o H HH 37da
3ffereTIg™ Fed T | 3T &I 3Teq ITHGTH
HEd B |
2 anfer IR | foar ST 2 | &l fhar Srar 3 |
EalGEINIE]
3 NN @I | R ofell & QIR | e Al & |

20




o1 TR Bl § | @ MR TR BT 2|
4 3= M 3fferepe AT 2 | R WS |
SRIFATTAR U HA TR KA 4 3fd U< a1 |
arerar
aref fof. @t
ST
forfer | fqaRor @Il | M0 Dr. M9 Cr.
TS .,

1 d% W@l Dr. 360000

AT 37T 3fTde @rar | 360000
2 | gAGT 3T IS WIal Dr. 360000

HHAT 3 Yol @rar o 360000
3 HAT 379 3Mded WIdl Dr. 360000

FHAT 3 Yol @rar o 360000
4 | d% 3MMGcHd G Dr. 180000

FHAT 37 Yoll Erdr | 180000
5 | HAT Y YgH 9 3ifcH

ATIT QT Dr. 360000

FHAT 37 Yoll @rdr | 360000

d§% W@l Dr. 180000
6 |FHAT 3w UH 9 3ifH

ATIAT HTT A 180000

SRIFATTAR a0 HRA TR B 4 b U< 81T |

21




3 8.

IR T FOTIFIRT § 3R

P, | IR JTITIRT EAULERCIN

1 |9 I HEHEI D | WUYF NI B D
e B T oFeR B § |

2 | FafEeR | IMRTTRAT B AR | o gTRIAT B FAT H
BT © | A9 9 B JAWHR A8

3 BT B |

4 | IfTHER
PIRETS]

BIdT B |

JHfcd R | HHUAT DI FHid R
BN Brar 2 |
dYY B w9 W T

FOOE gTRAT BT FHEf
TR IMfHR LT BIar 2
Gl B Wy H U g

=

SRIFATTAR a0 HRA TR B 4 b I« 81T |

Journal Entres

AT

Bank a/c Dr. 40000

To 6% Deb Application 40000
(Being amount received on deb. application)
6% Deb application a/c Dr. 40000

To 6% deb. 40000
(Being transfer of application money to dep. a/c)
6% deb. allotment alc Dr. 120000

To 6% dep. debenture a/c 120000
(Being allotment money due)
Bank a/c Dr. 120000

To 6% deb. allotment 120000
(Being allotment money Rec.)
6% Deb calls a/c Dr. 240000

To 6% debenture 240000

(Being call money due)

22




SISVASR®)

Bank

alc

To 6% deb. calls

(Being call money Rec.)

SRIFATTAR a0 HRA TR HA 4 b U< 81 |

U fIeelvo] & Igaw —
1. S D AT &AAT ST BT I — IMGUd [Aelvor & gRI
HUN D T AT BT STF BN ST AHBAT & | I AT 3rearat
DI TUET B I8 GdT AT SN Ahal § fb & Bl B 9T
B Ud Qe dleid FON & SR & foly g e 2 |
2. §9Ic S BT SGa¥ — AU (ATl & gRT A bl HAA!
qAT TSI HI U o Sl o | RN dolc JIR &R &l

Jfaerm &l 2 |
3. il eniwel B 9MA &1 SgeYY — IMUId favaiyor gR1 wifea

Dr. 240000
240000

3Dl B WA UG FHSH I 3fh] H gaell Sl Ahdl & |
4. MEAYE AT UK BRA BT IGa¥ — olRIIDb U ST B
B & IGa¥d FIAT D HET [Jbrd B JISHT g9 qAT AT
T & 1Y SMaead Fay Ui &HRal ¢ |
SRR qUF B W Gl 4 3 g 81 |

3rerdm
$. | SR die], SrguTd Rl SrguTd
1| ey SNEd e AqTe] | SHDT Y TR FHfeadl d
ATl ©d dre] <Ifcdl | aRael a1l | BIdT & |
q Bl B |
2 | B IE (P aV & YWIAH DI | I§ b A8 D JIaEl Bl
Y Rerfer garar 2 Rerfey garam 21
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3ciX 10.

4

yarfad |21 2| 11 2

A <Te], FHfed +2Te] a1fded | dkel Fwufed + =Tl &Tfded

SWRIFITTAR I B TR A 4 AP I il |
PIY YdTe fIaRoT U= &7 d8cd —

1.

gote Ao &R # WS — WIS qafcd JMfeRrgyr, sriefie gofl,
SATTEl, YA g RO WA 3MfQ © ey H Yaigar TaR Foic
&1 femtor faar Simar 2|

O U HRA H 8D — S99 R0 & AMR W &b qeOl
Ol AU SR o7 dTell |l & dRerdl Rerfd &1 g e
&A@ fIvg # ATyl @A U HRel 7 |

T qEl BT T DI H FERD — 39 (AR B WEIAT ¥ frear
T ATA—TI AT § He! oD eI §9a 8 Sl © |
focia faweor &1 & Wee — @e ggh fdRe iy
faeeiyor &1 I5 2 iR I8 wriefie goil H uRad+ &1 AR ol
g 3R dRAT W U drel UHId BT ST § |

AoFET 9 § ERG — 39 AaRv 9 i are 4 gafa
HErdl et 2| Fife gaa A ¥ SfaRad ®s &1 rawddl
SHHT YT A & ATE g (A o1 FeiRa far 51w 7 |
e Afaa @ fFuRo § Bre — s AR &1 gy
PRD JERI AR AR WRAA Qb Ao S, AT
YA, B Yol & JArd TN efe & Hew H IS T
ydgaia Mol &1 M uTe R Hhd © |

SRIFATAR a0 HRA TR HA 4 3B U< 817 |
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X 11.

SEIH

Tt | DY Bl O]

faa=or JIRr ouy A
g€ ™ (12000—9000) 3000
ST
ORI AT (TTe], av) 2000
AR I H TR 1500
UR¥S Y Aty 600
BN & ford smao 600
I BT JTeiEd 1500
AT | UT DIy 9200
SRIFAEIR JUF B W Fel 4 AH U 8 |
% A B AT B
1 d UTpfde BRUNT ¥ BN | A SMUTRHAD  HION A
g | Bl B
2 SHHT ol qEl fhar | sHE o far e B
ST B |
3 & 7T H B B 1fdr AT 7 BN '
4 I gd = gl 7 | A gd FfEg a8 g
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3N 12,

RIEER] 2 |
5 saa oy 4 81 B ar | s9a faeg dMr fean

CIE| 2 | ST 2 |
SWRIFIIAR I B R fel 5 3D U 8T |

arerar
U0 ogT
Dr.
To WA Tl @IAT | 5000 By
To JIHS WA 600 RaINT Tl
(475+125) YYR — 4200
To ST el 250 TiTq — 2000 6200
2 by,
To HHITH @1l 155 XCTp e 1462.60
To AT BT\ @Il | 1657.50
7662.50 7662.50

SWITAAR U B TR H 5 AP T i |

Y & IR —

(A) facell & wTa qrell w1l /%Tg T —
U =T S U wIH R ReR W&l 2 g fdeell &1 kg I
&l Bresdl € S99 g9 fdoell & WYTg drell &1 Ped 2 |

(B) ®d & I dTell =T —

Ffdd =rfa— VAT &Ifd S AN & AfdTd IO & RO S
Bl § 3R I T AR & AI—W1T Fofdl § 3rIfd gad dl wifa
W 9 BRIl & VAT W1 Bl 89 Gl @ WG arell &1 BEd

=

26




3N 13.

(C) 98 & w1 arell wnfa / uRad=eie @ — Vi @nfar o 98
@ W $ ATHY Uh ©IF g AR # Rer 781 &l W @&rfa &l
e B WG el TITfT HEd 2 |
SWRITAAR qUF B W Gl 5 3 T 81T |

31y
I X 100 3000 X 100
T = = = 4000
= 75
R IRIL] = 39d I — g o9
=9000 -6000 = 3000
goil X &%
DRI IR A1 B —
100
80000 X 15
= @ —— = 6000
2 X 100

SWRIFITFAR I B TR FA 5 AP U< i |

Fged TSGR DI QAR BT YA B D e —

1. <Y R BT Y I YA

2. I IR BT fbwal H oA

3. QY NN BT 96 F FI B I

4. I AR BT AU WHR B YA

5. dlfYes] GRT I

1. < IR &7 (@ G0 PIAE — I BH & U9 g Ahs A0
d% WY B Al AGHIY T HRA dlel ARIER Bl IHD! FAKI <
IR U A1 < & S 8| b I YA bR B Y ASER
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U AT AEAT §IRT AT deb AT fbdl @l A W 0T TR
THe IR SeT Fad © | 39 99y ¥ 7 Jr fear oiar g -
EERUIE NG I SIRCIR| ™
NEISYACIRCINER]
(G5 o <o gord )

2. 3O IR HT fl § PAaE — 39 B4 & U9 9 Adbs Aol a8l
al | AISeR A7 e AEIeR & Sl Uic=ife | FHsiiar
HRD U QYD IHH IFD HU W H SKIANT B & Sl &
IR iR srafdr arell fhwai § «aral |fed P B Fawell HI
Sl 7 | 9 Hay H rfaiad ok fhd &Id © -

1. g AEER &1 Yol @rdn T

Figed |IslaR & R0 W 9

(GSlT @1 0T @A H <aRd )

2. TS 1T GIE|

Figed ASIGR & R0 WId 9

(3T TR TSl < g3

3. g AEIER &1 30T Wl ™
RIS /4% @Td A
(30T DY fhed &1 I foha)
SRIFATAR o HA W HA 5 i U< s |

AT

1 J: oI Tl

ICCRI Ry | faaRor KKl
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3N 14,

To ¥Cidh Wl 2000 By BriIaR &l 6000
To Yoil GrdT (IT4) By oIlGRi WX 9ccl | 800
3T — 2400 4800
doIEd — 2400
6800 6800
11 98GR & Yoil @
fqa=or | rorg | gered | oA | faaRo ST | defed | TdH
Y 3T /T 20000 | 10000 | —
ATl | 25400 | 15400 | 8000 | By UH: H{dAIh | 2400 | 2400 |—
g QT
By I @IAT | 3000 | 3000 |—
By IS WAl | — — 8000
25400 | 15400 | 8000 25400 | 15400 | 8000
SWIFAAR G0 B UR Bl 5 b U a8l |

ARG AT BT AT — g blg JYURT ATAGT W I R bl

<ar © g 0 dRUT 9§ rded 9 JreRll @ AR Id H s

AT © O U SBIIT AT BT 8H AS Ira-T Hed o |

Uoll gfdfte

3gfEs I @Il Dr.
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SWIFAAR IO HA TR Ff 5 AP 1< i |

To 3731 ITdcH WTdl

To 372 JTAAT W1l

SEI

ICCRI

YIdl Y&s

I3 Dr.

I3 Dr.

II

III

d% @il Dr.

To AT SFLTRAT BT QI
To 12% Yai. 32 eRkal 1
L&IS]]

(9T Td 8% ydl. oY
e @1 afer @y Hqed
R U B9 OR

JHAT 37 91T T WIaT Dr.
To FHT 37 TSil W
(FHar feEmRAl | Ut SRy

Uoll @i H ERIRT B

w)

8% Jal. 3ILTETRAT BT WD
To 8% Yal. 3 YSil @I

(8% dal SfTrgIRAT | U
IR Yol & H WAL B
W)

240000

160000

80000

160000

80000

160000

80000

SRIFATTAR a0 HRA TR H 5 b U< 817 |
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IR 15, RIS gHEfcddl BT A8l B —

(1) =fd (2) 9% (3) Wad (4) uce W ol (5) Nod ATSIST (6) el
I3 (7) AR Ud fhfer () faRreriar (9) Shifdd wera (10) ared
SRITIIAR qUF HA R Ho 5 AP 9T B |

SEIH

T AT 1 b AR
SR w7 H eSS B UREY

BT BT ATH o
Rerfa faaxor o=

AT .

Td 99 B
SIEE]

1B & A

1 JETRAT BT BIY
(1) T
SOREPRCEIEE
2 O DY

(37) gRfera o
(@) ITRfeTd For

11 IS BT TN
1 JTg FHfeqa
(&) TPt g
@) IREAIT—8Td
%) g€ e

(<) §of aref, P
2 faferamr

I
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3N 16.

SRIFATTAR a0 HRA TR A 5 b U< 81T |

e & fdged vd B8 & fadged # 3R

faeoT 8 2|

. | MR ATSIEN & fdged | BH & faged
1 IR B | AEGR & [dgeqd § | HH & fdged § @R
§g BT IUR §¢ 8l BT | 9 HR &1 oI 2 |
g |
2 Ay fowg |9EeR @ fged | BH @ 9AUdT WRO|Hl
@ T H UP | WEEN d Gey g
AEGR & €Y | 8 O B |
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3 ESIEEGLIE
4 BRI

5 9T

6 S IECIDNII

AEER & FHYA
R TH AEER &I
feae—feae  faar
ST 3 |

gg WEER B Y
IR 9 IR
anfe eRul | Bl
g |

U6 TR g9l € |

RIE IR R e |
W HH HT FHYT
arfard =8t 2 |

SIH 99l SRRl BT
Rare—fhae fhar <rar
=

IJg  oENld, oY
IpRAR  HedAr e
BRI F BT 2 |

T AEERl R sl
g |

BH & AU ¥ AR
AT i wu | |ar
B S B |

SRIFATTAR a0 HRA TR B 6 b U< 81T |

aerar
feRor RUEl fareRor NI
To GFGR Tdl 10000 | By oFaR WETdl 12000
To ¥l WA 40000 | By YIds @rdl 78800
To i GTdT 20000 | By WEIGRI &
I INECIRI] 8000 PIRCIS
To I @Il 8000 (A) 5200
ToXIhs WIdT (ISR) | 11400 (B) 2600 7800
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3cX 17.

To XIS GTdT 1200
(FHTIE )
98600 98600
ATERI & Yol @I
Dr.
faavor A B ICEEU! A B

To Elﬁél MTdr | 5200 2600 Y 3/ | 40000 20000

To ~‘é|65©_ MTdl | 34800 17400

40000 20000 40000 20000

SRIFATTAR a0 HRA TR B 6 b U< 81T |

I BT BT BT W USSl dob AT Ufhar AT Bl © S

TR © —
1. FaAULH BT Gd U el & Gl qdHR Adledd sl b

A T © | R e T8 |

2. GATIP Aedl H Sl & M UATd YT ST |

3. fd URAIa eIl T Fhrar AR arel digd YA 8

AT 14 &7 qd Horam 2|

4. ORI AfECH WS ST 7 |
5. TR R W Yral DI YA 81 Bl 2 dl 80 YA Ui
foram e 2|
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3TN 18.

6. SISTERI BT 37 YATIT UF a0 AN g AlCH (& Il = |

7. JTHIRAT BT AH GAT H DITh AT FHAMER I3 H & Sl 2 |
SWRIFATJAR dUF B TR A 6 b U< BT |

AT
1. Share Capital A/c Dr. 10,000

To Share first call 2000
To share sec. & final Call 3000
To share forfeiture 5000
(being 1000 share forfeited)
2. Bank Alc Dr. 9000
Share forfeited  A/c Dr. 1000
To share capital 10000
(being 1000 share re-issued)
3. Share forfiture  Alc Dr. 4000
To capital Reserve 4000

(Being fortited amount transfer of captal A/c)

SWITAAR I HA TR F 6 AP T 317 |

A USIRIE & MR U 0T 93 —

1. eSO TF — USlipd R YA & GRDI & AH B D

Moer H forg O 2 oIl Jaed iR &arel &l YiaE 32l
FOTIFAITRAT BT fhar Srar & a7 Sad § IoRex § g9 2 |

2. 918% kU UA — ¥ J kU UF B & (Dl gyl A A 8l

EEAICRYT B Sl @ $99 &Il dl A GRS Bl &1 fhar Srdn
=l
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B gRET & IR W

1. QRIS ROMH — d KO UF B © Sl BUN Bl g T4 I
AUl TR YR gIRT GRIEd 8 & |

2. GG FOUF — I FU UF Bl [ gR DI RO TAT AT
& WA & forg Swea ar ufof o T8 gl 2

C A & AMHR W —

1. O ®OYF — I 9 RO UF B § D IraE Ud FlREd
Ay & qr8 B AT I B |

2. I FUUH — U d FUT UF BId & NIl Ul & Sladdbid
A T8 BT B |

D I A & R wR —

1. aRaaTeiier Foua

2. JARITTAA FoUH

SRIFATTAR 0 HRA TR HA 6 3B U< 87 |

AT
Bank A/c Dr. 80000
To 5% Deb. App. 80000
(being app money received)
5% Deb. App Dr. 80000
To 5% Debunture 80000

(being 5% Deb. App. money tender to Deb a/c)
5% Deb. Allotment A/c  Dr. 200000

To 5% Debeuture 160000
To 5% Deb. premium 40000
(being allotment due with primum)
Bank A/c Dr. 200000
To 5% Deb Allotment 200000

(being allot money rec.)

5% Deb call A/c dr. 160000
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3TN 19.

To 5% debenture 160000
(being call money due)
bank Alc  Dr. 160000

To 5% Deb I & 11 call 160000

(being call money received)

SRIFATAR 0 HRA TR HA 6 b U< 87 |

It faavort & faeeivyor &1 Je@ FF=Tgar & —

1. S JRAFTH & yraemEl ST gRUTe™ — YD HUT Bl BUHl
AR 1956 & T & ATAR B YT Reifay faror qorr 3
feRor TR BT Usal & | sdforg facia faavo o1 faveryor v
T SMIeIHT & |

2. RO Ui B A Gfawr — iy f[qavol & fageiyor & smgrR o
= facia wdemell & o1 urd &< # Jfaww exfit 71 w=Aife
i el 9 o Wigd &)@ W iy [GaRei &1 T8
R FRA T |

3. B} SR BT A fHar o |G&bar 2 — fa<iia faavor s=mas
HA @ ATAR & IR I S 2| SHH B BT STFAM
¥ g e ¢ |

4, I B WIfd — O faaron &1 faveyor g & o
vd faerg § usy & forv derie Rig 8idr 21
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5. AT wafel @ for Swarhl — fIcia fAavol &1 fAeryor
fafanT wakell & fou U uyeeie & YHer v & fafren
foel aafe Suhd H U o9 &1 AT &= & fog aif
TIR B 8 9 SUHH @I A<l Rerfd dm Surei| e9dr |dary
EECl

6. Wrdl RIS e qaigae § Wee — fd<iig fqaron & fqgeivor
A | AR Bl GIR DR AT GargArd o= & IuIARfT a2
T BId ® |

TS FE1 g BT GHSIH WR F{A 6 3% U<t T |
arerar

Comprative income statement

for the year ended 31* march 2008 and 31* march 2009

Perticuler 2008 2009 absolute Percentage
change change

Net sales 15000 20000 5000 33.33

Less cost of good sold 8000 9000 1000 12.5
Gross profit | 7000 11000 4000 57

less operating exp 1000 1200 200 20

administrative exp 800 1000 200 25

operating profit 5200 8800 3600 69.23

add non operating income 400 300 100 25

less non operating exp 200 200 - -

net profit before tex 5400 8900 3500 64.8
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3cX 20.

less tax

Net profit of the tax

1250 1500

4150 7400

250 20

3250 78.31

SRIFATTAR a0 HRA TR B 6 b U< 8T |

b 9819 fIaR0T T b goic § 3R
3R
1. |e@T @ |Adbs YdAig  fIaR0T | IAPbs dolc Aad HAS B
SR 9Id gU 9T & ol |l & oy gemar Srar
ST ST R 2 |
2. |3qeH fo WMl @ Jde |vfdw # Ads wE A
o Ud SEdT | Wgd B8Rl iR faa
STINT  ®el fear | B0l
T |
3. | ugfa el e@fy @ | 9w o7 oy Rafa
facia Rafa fageryor | s far Sirar 2
4. | FHG URfA | IS FHBI D | STATNG AT BIodTD
IER R IR HAT | FHDI & SMEUR R TIAR
ST 3 |
5. | 3MER Q1 @AY & el & | qaigA™ @ ™R UR T
MR W TR fohar | farar Smar 2
ST B |
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6. | aifTdINoT T A9 9 AT | 39

farell wd  fawig
et foraren  H

qiihd BB TR

ST 2 |

fopamatt, faferameT | s ST 2

TS el B: 3R U §A 6 3D UI<d a7 |

SEIH

Calculation of Net cash flow from operating activities

(Indriect Method)
Rs. Rs.
Net Profit before tax 7,500
Add: non-cash and non operating charges:
Depreciation of plant
Loss on sale of plant 1,800
700
Less: non-cash non operating credits: 10,000
Intrest received 2,500
Profit on sale of long term investment 2,500
Operating profit before working capital change 5,000
Add: Increase in current liabilities 20,000
25,000
Less: Increase in current assets 10,000
Net chas flow from oerating activities 15,000

SWIGFAAR U B TR H 6 AP < i |
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